ojn

22:1-12

o
==

Ol: 154%.

t

x4

Hu

Sermon idea: A}

1) S22 HZ

(Ag|akol E¥).

-

ol
Hr

[

jol

+
2

At

of £l&= &et?

k=3
=

IR HE] Al

EE 7 -

=3
=

2143 O|EY.
354.
29%.

gl

Ol &
0|

-l

7| Oj-ZO|LC}.

F

oll

<a

otz 7t

7|At7t gtk

o=

=50= 23

A LFSt

-
o

b

.
()
[

2

FX| 7} Lb2C}.

Ol X
—_ -

JtLtel 2

o=

ag|m, AR Qsk 2

W oge

=
=

OAHE A

L

, =ME

[
=

&l

, 2R Y0| otLzt..

A A

M7t UAALE)

I

.
o
=

(M1g, M2

BN QFALO|OpAN

10| 47 HE 0| XX §7[E..

ol==7t 20 A= A& ULk 2Lt O 2H|

HEEA] O =7t ACH

ojru

[y

ZbLt

=
=

P

|
o



O[X o 22, F&o Z2 =0 f2=.

822, o+ =0k sjZ&= A0 OfLtt
=HE o5 Lhsto] RALE

o 2ME 2= 20| 22 = Uk

= B A ANz 2 Mk SiZ=l= A0l OrLCf
2Lt Al AR sjZ2E AO|Ct
FEAl Y7tLete 2 7t Z0ls &O0FE Sutoto{of St

4%, L mj7} O|ZX| OfL|S}LIO|CE.
(MRt M)E ofn|etit =30 A0 7t?

+

22l 2XoIASES LN LoX| gEC
a2 2% J2AE oj4er] ct

cHg F8H2t.)

S WHg SHAIEX G2 shf

—
==

B30l ofLjz), U1 Sty 42
=0| ofal, Fo| £ 22 Fde 290/a}
YasiAlSTl AHS T s

—
-

//=F0 ANEE2 E5 AL=E A|ZEICH
[MM15 RIAF2L0l JI2E S AMA HAES T2 HAS
OFSHAIZILIOIDF =F0| MAIEDH W1 €= 20| =22

0If
ol
0>
my



=3ot= At
1. gotZlo] =5 M<Pek
O[M= MM A=|Zo|A zct et

=]
(SO[AHEL) ZH7F 425 Mo LotL} SYSHALE?
GHZsiEL) 7t 2 2
m]

MAtS0| 18 HALCH (11E.

+EX Q7 TEZOIT7F2+: HEHSE 0|9 from Ellen G. White

The wine which Christ provided for the feast, and that which He gave to the disciples as a symbol of
His own blood, was the pure juice of the grape. (DA, 149)

Ae[ARHAM A=l MSot O 23 O Al IE d8sts A2z MASoA =4 A

o, 122 40 ZEFAQCH

SUNOR BB NS0 0| HOIHCH: HS ¥ & 9UCt
JBL, ZEF XS MR BYSIP

JHoE STotn, FHo| TeFet we, oA HEX 23
Sy9| ZEF0| L2 Zolct Bj@It EIX| k.

EEFE = o= o||:|.

(22| Mojof o2 Bhet mjof):

Qsteg 20| Lo mEF APHO| AgHE oojs?
NEEY


http://jungsu19.egloos.com/1243656

A2 SECH

-
b)

d=22 ME ==
JHLPE ZREAHM E5 2222 HEE
W= d2l 222 JIEH 22

SDH0ID FHD QA0S HESIEHE 2,
CHE BRSO 2R RRAIDI OI3HE! i (02t
TYE 2 =22 TA5I UE SO
TS ERM 5 A2 9ES

2EFL U0 IISH VL,

Al AIZHDL M2 ELE OH BIE
0] ehd = & ST A% 230
A 250 ZHAHAH = CEAEE

ERAE 2 EH AN Rz 2R

T 2

USRI

=
—

JIE MEtd M

i[5

2L

=k

A
= A

L+

=
=

HO

TH FAF E =20l SFHHECE"

o
T

Ol DB, P2|E Hztg

M
-

b2 30
!
»a
T

HXE O diofel dE
=0 HOjM HE ARE,
29| oM. =50 .. Z
O|A2 ZEFII E2 Y=
.

o|Azteo| 1E|AL
= 1523 Otgtoy| oj= 2

92 Holct
Y delAEg oy
Y AT ElE A

o
CHE 7182l SFOo|tt

™

u]
G

20140| Lt

CC

—_

2 oiLre

= ChtS ol

L 3 2 20| MA OmAX] RSB 2 1 0|&& 0Orztet stRAG 2t
15224 40| RME OfstY AYStol 7125 2|7t FAS Ot Stoj

1525 ZM7t 2P RERNJCL J=PHAM oA of LLRE X|AISIAIL 37t S0 SX[0f =
O EHotMEEL H7IM =AM IE5S st Hzot SHE HotA 1 D5 A™SHEM

=

Of



HHEfLICH
HHEfLICH

=

=

=

=

FAIZ
AFA| 7|

.
o

=

=

2R
Ot

=
-

gd=02
2| & Zr2Ol, A7t ez

—

—

At

o
_I_

ol
<R

ol
<lo
OH

A
J/

oF-

L|C}.

AlSEH
L=

!

o =
= o

(o)
=

A

A

7

£l
=

Z B

t=
L|C}.

C
[

I

=

e
o

A

8

=0 Z=F7t &0,

Z=0



